[image: ]
[bookmark: _GoBack][image: ]
[image: ]
image1.png
Simplify cach expression.
@) VIZ= Vi3

A perfect square
Vi3
=2V3

(b) V45 =95

A perfect square
=V9-V35
=3V5

(©) V72 = V362

A perfect square
= V36- V2
=6V2

d) SVI8 =592

A perfect square
=5:V9-V2=5-3-V2=15V2
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What is a simpler form of each radical expression?
3V16:
V168 = Va () = V{axi)? = |axt| = axt
You need to include absolute value symbols because the index of a square root is 2,
which is even. However, [4x*| = 4x% because x* is always nonnegative.

0 Vasp®
Vast9 = V(@Y = Vo) =
The index is odd, so you cannot include absolute value symbols here.
@Y™
Vaty = Y2 = Vi = #2150
The index is even. The absolute value symbols ensure that the root is positive when

y?3 is negative. Absolute value symbols are not needed for x2 since x? is always
nonnegative.
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Simplifying Radical Expressions




